Su Gou; Tingting Wang The diophantine equation $x^2+2^a\cdot 17^b=y^n$

Czechoslovak Mathematical Journal, Vol. 62 (2012), No. 3, 645-654

Persistent URL: http://dml.cz/dmlcz/143016

Terms of use:

© Institute of Mathematics AS CR, 2012

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

THE DIOPHANTINE EQUATION $x^2 + 2^a \cdot 17^b = y^n$

SU GOU, TINGTING WANG, Xi'an

(Received November 24, 2010)

Abstract. Let \mathbb{Z} , \mathbb{N} be the sets of all integers and positive integers, respectively. Let p be a fixed odd prime. Recently, there have been many papers concerned with solutions (x, y, n, a, b) of the equation $x^2 + 2^a p^b = y^n$, $x, y, n \in \mathbb{N}$, gcd(x, y) = 1, $n \ge 3$, $a, b \in \mathbb{Z}$, $a \ge 0$, $b \ge 0$. And all solutions of it have been determined for the cases p = 3, p = 5, p = 11 and p = 13. In this paper, we mainly concentrate on the case p = 3, and using certain recent results on exponential diophantine equations including the famous Catalan equation, all solutions (x, y, n, a, b) of the equation $x^2 + 2^a \cdot 17^b = y^n$, $x, y, n \in \mathbb{N}$, gcd(x, y) = 1, $n \ge 3$, $a, b \in \mathbb{Z}$, $a \ge 0$, $b \ge 0$, are determined.

 $\mathit{Keywords}:$ exponential diophantine equation, modular approach, arithmetic properties of Lucas numbers

MSC 2010: 11D61

1. INTRODUCTION

Let \mathbb{Z}, \mathbb{N} be the sets of all integers and positive integers respectively. Let p be a fixed odd prime. Recently, there have been many papers concerned with solutions (x, y, n, a, b) of the equation

(1.1)
$$x^2 + 2^a p^b = y^n$$
, $x, y, n \in \mathbb{N}$, $gcd(x, y) = 1$, $n \ge 3$, $a, b \in \mathbb{Z}$, $a \ge 0$, $b \ge 0$.

All solutions of (1.1) have been determined for the following cases:

- 1. (F. Luca [12]) p = 3.
- 2. (F. Luca and A. Togbé [13]) p = 5.
- 3. (I. N. Cangul, M. Demirci, F. Luca, A. Pintér and G. Soydan [5]) p = 11.
- 4. (F. Luca and A. Togbé [14]) p = 13.

In this paper, using certain recent results on exponential diophantine equations including the famous Catalan equation, we solve (1.1) for p = 17. We prove the following result:

Theorem. The equation

 $(1.2) \ x^2 + 2^a \cdot 17^b = y^n, \quad x, y, n \in \mathbb{N}, \ \gcd(x, y) = 1, \ n \ge 3, \ a, b \in \mathbb{Z}, \ a \ge 0, \ b \ge 0$

has only the solutions (x, y, n, a, b) = (5, 3, 3, 1, 0), (7, 3, 4, 5, 0), (11, 5, 3, 2, 0), (8, 3, 4, 0, 1), (1087, 33, 4, 8, 1), (5, 7, 4, 7, 1), (9, 5, 4, 5, 1), (47, 9, 4, 8, 1), (47, 3, 8, 8, 1) and (495, 23, 4, 11, 1).

We notice that if $p \equiv 7 \pmod{8}$, then (1.1) probably has solutions (x, y, n, a, b) with a = 0 and y is even. Thus it can be seen that this case is very hard.

Equation (1.1) is a special case of the general exponential diophantine equation $Ax^m + Bz^r = Cy^n$ and such equations can be thought of as generalized Fermat equations. These equations can be attacked using the abc conjecture, which is still a famous unsolved problem. The abc conjecture says that for any fixed $\varepsilon > 0$, there is a constant $K(\varepsilon)$ such that if a + b = c are three mutually coprime integers, then

$$\max(|a|, |b|, |c|) \leqslant K(\varepsilon)(\operatorname{rad}(abc))^{1+\varepsilon},$$

where $(\operatorname{rad}(abc))$ is the product of the distinct primes dividing abc. Applying this conjeture to our equation $x^2 + 2^a p^b = y^n$ shows that for any fixed prime p there are only finitely many (x, y, n, a, b). Since the abc conjeture is still unsolved, it is of interest to try to show this directly using other methods. This is why we look at this equation.

2. Preliminaries

Lemma 2.1 ([7]). The equation

$$(2.1) X3 + 1 = 2Y2, X, Y \in \mathbb{N}$$

has only the solutions (X, Y) = (1, 1) and (23, 78).

Let q be an odd prime, let D be a positive integer.

Lemma 2.2 ([2]). If $q \ge 5$, then the equation

$$(2.2) X^q + 1 = 2Y^2, \quad X, Y \in \mathbb{N}$$

has only the solution (X, Y) = (1, 1).

Lemma 2.3 ([11]). The equation \mathbf{L}

$$(2.3) X^4 - DY^2 = -1, \quad X, Y \in \mathbb{N}$$

has at most one solution (X, Y).

Applying Lemma 2.3, we can immediately obtain the following lemma.

Lemma 2.4. The equation

(2.4)
$$X^4 - 2Y^2 = -1, \quad X, Y \in \mathbb{N}$$

has only the solution (X, Y) = (1, 1).

Lemma 2.5 ([8], [10]). The equation

(2.5)
$$X^2 + 2^m = Y^n, \quad X, Y, m, n \in \mathbb{N}, \ \gcd(X, Y) = 1, \ n \ge 2$$

has only the solutions (X, Y, m, n) = (3, 5, 4, 2), (5, 3, 1, 3), (7, 3, 5, 4) and (11, 5, 2, 3).

Lemma 2.6 ([16]). The equation

(2.6)
$$X^2 - 2^m = Y^3, \quad X, Y, m \in \mathbb{N}, \ \gcd(X, Y) = 1, \ Y > 1$$

has only the solution (X, Y, m) = (71, 17, 7).

Lemma 2.7 ([17]). If $q \ge 5$, then the equation

(2.7)
$$X^2 - 2^m = Y^q, \quad X, Y, m \in \mathbb{N}, \ \gcd(X, Y) = 1, \ Y > 1, \ m > 1$$

has no solution (X, Y, m).

Lemma 2.8 ([3]). If $D = 2^{2r} - 3 \cdot 2^{r+1} + 1$, where r is a positive integer with r > 1, then the equation

$$(2.8) X^2 - D = 2^n, \quad X, n \in \mathbb{N}$$

has only the solutions $(X, n) = (2^r - 3, 3), (2^r - 1, r + 2), (2^r + 1, r + 3)$ and $(3 \cdot 2^r - 1, 2r + 3)$.

Put r = 3. Applying Lemma 2.8, we can obtain the following lemma.

Lemma 2.9. The equation

(2.9)
$$X^2 - 17 = 2^m, \quad X, m \in \mathbb{N}$$

has only the solutions (X, n) = (5, 3), (7, 5), (9, 6) and (23, 9).

Lemma 2.10 ([15]). The equation

(2.10)
$$X^m - Y^n = 1, \quad X, Y, m, n \in \mathbb{N}, \ \min(X, Y, m, n) > 1$$

has only the solution (X, Y, m, n) = (3, 2, 2, 3).

Let D, k be positive integers such that $k > 1, 2 \nmid k$ and gcd(D, k) = 1. Further let h(-4D) denote the class number of positive binary quadratic forms of discriminant -4D.

Lemma 2.11 ([9]). Every solution (X, Y, Z) of the equation

(2.11)
$$X^2 + DY^2 = k^Z, \quad X, Y, Z \in \mathbb{Z}, \ \gcd(X, Y) = 1, \ Z > 0$$

can be expressed as

$$Z = Z_1 t, \quad t \in \mathbb{N},$$
$$X + Y \sqrt{-D} = \lambda_1 (X_1 + \lambda_2 Y_1 \sqrt{-D})^t, \quad \lambda_1, \lambda_2 \in \{\pm 1\}$$

where (X_1, Y_1, Z_1) is a positive integer solution of (2.11) with $Z_1 \mid h(-4D)$.

Let α, β be algebraic integers. If $\alpha + \beta$ and $\alpha\beta$ are nonzero co-prime integers and α/β is not a root of unity, then (α, β) is called a Lucas pair. Further, let $f = \alpha + \beta$ and $g = \alpha\beta$. Then we have

$$\alpha = \frac{1}{2} (f + \lambda \sqrt{d}), \ \beta = \frac{1}{2} (f - \lambda \sqrt{d}), \ \lambda \in \{\pm 1\},$$

where $d = f^2 - 4g$. We call (f, d) the parameters of the Lucas pair (α, β) . Two Lucas pairs (α_1, β_1) and (α_2, β_2) are equivalent if $\alpha_1/\alpha_2 = \beta_1/\beta_2 = \pm 1$. Given a Lucas pair (α, β) , one defines the corresponding sequence of Lucas numbers by

(2.12)
$$L_n(\alpha,\beta) = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad n = 0, 1, 2, \dots$$

For equivalent Lucas pairs (α_1, β_1) and (α_2, β_2) , we have $L_n(\alpha_1, \beta_1) = \pm L_n(\alpha_2, \beta_2)$ for any $n \ge 0$. A prime *l* is called a primitive divisor of $L_n(\alpha, \beta)$ (n > 1) if

$$l \mid L_n(\alpha, \beta)$$
 and $l \nmid dL_1(\alpha, \beta) \dots L_{n-1}(\alpha, \beta)$.

Lemma 2.12 ([6]). If l is a primitive divisor of $L_n(\alpha, \beta)$, then $l \equiv \pm 1 \pmod{n}$.

A Lucas pair (α, β) such that $L_n(\alpha, \beta)$ has no primitive divisor will be called an *n*-defective Lucas pair.

Lemma 2.13 ([1], [18]). Let n satisfy $4 < n \leq 30$ and $n \neq 6$. Then, up to equivalence, all parameters of n-defective Lucas pairs are given as follows:

- (i) n = 5, (f,d) = (1,5), (1,-7), (2,-40), (1,-11), (1,-15), (12,-76) and (12,-1364).
 (ii) n = 7, (f,d) = (1,-7) and (1,-19).
 (iii) n = 8, (f,d) = (2,-24) and (1,-7).
- (iv) n = 10, (f, d) = (2, -8), (5, -3) and (5, -47).
- (v) n = 12, (f, d) = (1, 5), (1, -7), (1, -11), (2, -56), (1, -15) and (1, -19).
- (vi) $n \in \{13, 18, 30\}, (f, d) = (1, -7).$

A positive integer n is called totally non-defective if no Lucas pair is n-defective.

Lemma 2.14 ([4]). If n > 30, then n is totally non-defective.

Lemma 2.15. Let q be an odd prime with $q \ge 5$, and let (X, Y) be a solution of the equation

(2.13)
$$X^2 + DY^2 = k^q, \quad X, Y \in \mathbb{Z}, \ \gcd(X, Y) = 1.$$

If $q \nmid h(-4D)$, then Y must have an odd prime divisor l satisfying $l \equiv \pm 1 \pmod{q}$, except for (D, k, q) = (19, 55, 5) and (341, 377, 5).

Proof. Since $q \nmid h(-4D)$, applying Lemma 2.11 we have

(2.14)
$$X + Y\sqrt{-D} = \lambda_1 (X_1 + \lambda_2 Y_1 \sqrt{-D})^q, \quad \lambda_1, \lambda_2 \in \{\pm 1\},$$

where X_1 and Y_1 satisfy

(2.15)
$$X_1^2 + DY_1^2 = k, \quad X_1, Y_1 \in \mathbb{N}, \ \gcd(X_1, Y_1) = 1.$$

Let

(2.16)
$$\alpha = X_1 + Y_1 \sqrt{-D}, \quad \beta = X_1 - Y_1 \sqrt{-D}.$$

By (2.14) and (2.15), $\alpha + \beta = 2X_1$ and $\alpha\beta = k$ are co-prime positive integers. Further, since α/β satisfies $k(\alpha/\beta)^2 - (X_1^2 - DY_1^2)(\alpha/\beta) + k = 0$, α/β is not a root of unity. Therefore, (α, β) is a Lucas pair with parameters $(f, d) = (2X_1, -4DY_1^2)$. Let $L_n(\alpha, \beta)$ denote the *n*-th corresponding Lucas numbers. By (2.12), (2.14) and (2.16), we get

(2.17)
$$Y = Y_1 |L_q(\alpha, \beta)|.$$

Since q is an odd prime with $q \ge 5$, applying Lemma 2.13 and 2.14 we find from (2.15) and (2.16) that, if $(D, k, q) \ne (19, 55, 5)$ and (341, 377, 5), then $L_q(\alpha, \beta)$ has a primitive divisor l. Further, by (2.17) we have $l \mid Y$. Thus, since $2 \nmid L_q(\alpha, \beta)$, by Lemma 2.12, Y has an odd primitive divisor l with $l \equiv \pm 1 \pmod{q}$. The lemma is proved.

3. Proof of the theorem

Let (x, y, n, a, b) be a solution of (1.2). We now proceed to prove the theorem in the following four cases separately.

Case I. a = b = 0.

By (1.2), we get $x^2 + 1 = y^n$. But, since $n \ge 3$, by Lemma 2.10 this is impossible. Case II. a > 0 and b = 0. Then (X, Y, m, n) = (x, y, a, n) is a solution of (2.5).

Thus, applying Lemma 2.5, we obtain

$$(3.1) (x, y, n, a, b) = (5, 3, 3, 1, 0), (7, 3, 4, 5, 0), (11, 5, 3, 2, 0).$$

Case III. a = 0 and b > 0. Then we have

(3.2)
$$x^2 + 17^b = y^n, \quad x, y, n, b \in \mathbb{N}, \ \gcd(x, y) = 1, \ n \ge 3.$$

We first consider the case of $4 \mid n$. From (3.2), we get $y^{n/2} + x = 17^b$ and $y^{n/2} - x = 1$. This implies that

$$(3.3) 2y^{n/2} = 17^b + 1,$$

and

$$(3.4) 2x = 17b - 1.$$

If b = 1, then from (3.3) we get y = 3 and n = 4. Hence, by (3.4), we obtain the solution

$$(3.5) (x, y, n, a, b) = (8, 3, 4, 0, 1).$$

If b is a power of 2, then $b = 2^r$, where r is a positive integer. Since n/2 is even, (3.3) is false for r = 1. When r > 1, $(X, Y) = (17^{b/4}, y^{n/4})$ is a solution of (2.4). But, by Lemma 2.4, this is impossible.

If b > 1 and b is not a power of 2, then b has an odd prime divisor q. By (3.3), $(X,Y) = (17^{b/q}, y^{n/4})$ is a solution of (2.2). But, by Lemmas 2.1 and 2.2, this is impossible.

We next consider the case of $4 \nmid n$. Since $n \ge 3$, n has an odd prime divisor q. Let $z = y^{n/q}$, then (3.2) can be written as

(3.6)
$$x^2 + 17^b = z^q, \quad x, z, b \in \mathbb{N}, \ \gcd(x, z) = 1.$$

If $2 \mid b$ and q = 3, then since h(-4) = 1, applying Lemma 2.11, from (3.6) we get

(3.7)
$$x + 17^{b/2}\sqrt{-1} = \lambda_1 \left(X_1 + \lambda_2 Y_1 \sqrt{-1}\right)^3, \quad \lambda_1, \lambda_2 \in \{\pm 1\},$$

where X_1 and Y_1 satisfy

(3.8)
$$X_1^2 + Y_1^2 = z, \quad X_1, Y_1 \in \mathbb{N}, \ \gcd(X_1, Y_1) = 1.$$

By (3.7) we obtain

(3.9)
$$17^{b/2} = Y_1 |3X_1^2 - Y_1^2|$$

Since (3/17) = -1, where (\star/\star) is the Legendre symbol, we have $17 \nmid 3X_1^2 - Y_1^2$. Therefore, by (3.9), we get $Y_1 = 17^{b/2}$ and

But, since (-3/17) = -1, (3.10) is impossible.

If $2 \mid b$ and $q \ge 5$, then $(X, Y) = (x, 17^{b/2})$ is a solution of (2.13) for (D, k) = (1, z). But, since h(-4) = 1 and $q \nmid 17 \pm 1$, by Lemma 2.15, this is impossible.

Since h(-68) = 4, using the same method, we can prove that if $2 \nmid b$, then (3.6) is false.

Case IV. a > 0 and b > 0. Then (1.2) can be written as

(3.11)
$$x^2 + 2^a \cdot 17^b = y^n, \quad x, y, n, a, b \in \mathbb{N}, \ \gcd(x, y) = 1, \ n \ge 3.$$

We first consider the case of $4 \mid n$. By (3.11), we get either

(3.12)
$$y^{n/2} + x = 2^{a-1} \cdot 17^b, \quad y^{n/2} - x = 2,$$

or

(3.13)
$$y^{n/2} + x = \begin{cases} 2^{a-1}, \\ 2 \cdot 17^b, \end{cases} \quad y^{n/2} - x = \begin{cases} 2 \cdot 17^b, \\ 2^{a-1}. \end{cases}$$

If (3.12) holds, then we have

$$(3.14) y^{n/2} = 2^{a-2} \cdot 17^b + 1$$

and

(3.15)
$$x = 2^{a-2} \cdot 17^b - 1.$$

Further, since n/2 is even, by (3.14) we obtain either

(3.16)
$$y^{n/4} + 1 = 2^{a-3} \cdot 17^b, \quad y^{n/4} - 1 = 2,$$

or

(3.17)
$$y^{n/4} + 1 = \begin{cases} 2^{a-3}, \\ 2 \cdot 17^b, \end{cases} \quad y^{n/4} - 1 = \begin{cases} 2 \cdot 17^b, \\ 2^{a-3}. \end{cases}$$

When (3.15) holds, we have $y^{n/4} = 3$ and $2^{a-3} \cdot 17^b = 4$, a contradiction. When (3.17) holds, we get

$$(3.18) y^{n/4} = 2^{a-4} + 17^b$$

and

$$(3.19) 2^{a-1} - 17^b = \pm 1.$$

Applying Lemma 2.10 to (3.19), we obtain b = 1 and a = 8.

Hence, by (3.18), we get the solution

$$(3.20) (x, y, n, a, b) = (1087, 33, 4, 8, 1).$$

If (3.13) holds, then we have

$$(3.21) y^{n/2} = 2^{a-2} + 17^b$$

and

$$(3.22) x = |2^{a-2} - 17^b|.$$

When b = 1, we see from (3.21) that $(X, m) = (y^{n/4}, a - 2)$ is a solution of (2.9). Therefore, by Lemma 2.9, we get from (3.21) and (3.22) that

$$(3.23) (x, y, n, a, b) = (5, 7, 4, 7, 1), (9, 5, 4, 5, 1), (47, 9, 4, 8, 1) (47, 3, 8, 8, 1) and (495, 23, 4, 11, 1).$$

When $2 \mid b$, we get from (3.21) that $y^{n/4} + 17^{b/2} = 2^{a-3}$ and $y^{n/4} - 17^{b/2} = 2$. This implies that

$$(3.24) 17^{b/2} = 2^{a-4} - 1.$$

But, since a > 7, by (3.24) we get $1 \equiv 17^{b/2} \equiv 2^{a-4} - 1 \equiv -1 \pmod{8}$, a contradiction.

Let b > 1 and $2 \nmid b$, where b has an odd prime divisor q. For q = 3, applying Lemma 2.6 to (3.21), we obtain the solution

$$(3.25) (x, y, n, a, b) = (4785, 71, 4, 9, 3)$$

by (3.22). For $q \ge 5$, by Lemma 2.7, (3.21) is impossible, since $a \ge 5$.

We next consider the case of $4 \nmid n$. Since n > 2, n has an odd prime divisor q. Let $z = y^{n/q}$ (3.11) can be written as

(3.26)
$$x^2 + 2^a \cdot 17^b = z^q, \quad x, z, a, b \in \mathbb{N}, \ \gcd(x, z) = 1.$$

If 2 | a, 2 | b and q = 3, then since h(-4) = 1, by Lemma 2.11, from (3.26) we get

(3.27)
$$x + 2^{a/2} \cdot 17^{b/2} \sqrt{-1} = \lambda_1 (X_1 + \lambda_2 Y_1 \sqrt{-1})^3, \ \lambda_1, \lambda_2 \in \{\pm 1\},$$

where X_1 and Y_1 satisfy

(3.28)
$$X_1^2 + Y_1^2 = z, \ X_1, Y_1 \in \mathbb{N}, \ \gcd(X_1, Y_1) = 1.$$

By (3.27), we have

(3.29)
$$2^{a/2} \cdot 17^{b/2} = Y_1 |3X_1^2 - Y_1^2|.$$

Since $2 | X_1Y_1$ and (3/17) = -1, we see from (3.29) that $Y_1 = 2^{a/2} \cdot 17^{b/2}$ and

But, since $(\pm 3/17) = -1$, (3.30) is impossible.

Since h(-8) = 1 and h(-68) = h(-136) = 4, using the same method we can deal with the other cases for q = 3.

If $2 \mid a, 2 \mid b$ and $q \ge 5$, then since h(-4) = 1 and $q \nmid 17 \pm 1$, by Lemma 2.15, (3.26) is false. Using the same method, we can remove the other cases for $q \ge 5$.

Thus, the combination of solutions (3.1), (3.5), (3.20), (3.23) and (3.25), proves the theorem. $\hfill \Box$

References

- M. Abouzaid: Lucas and Lehmer numbers without primitive divisor. (Les nombres de Lucas et Lehmer sans diviseur primitif). J. Théor. Nombres Bordx. 18 (2006), 299–313.
- [2] M. A. Bennett, C. M. Skinner: Ternary diophantine equations via Galois representations and modular forms. Can. J. Math. 56 (2004), 23–54.
- [3] F. Beukers: On the generalized Ramanujan-Nagell equation. I. Acta Arith. 38 (1980/81), 389–410.
- [4] Y. Bilu, G. Hanrot, P. M. Voutier, (M. Mignotte): Existence of primitive divisors of Lucas and Lehmer numbers (with an appendix by M. Mignotte). J. Reine Angew. Math. 539 (2001), 75–122.
- [5] I. N. Cangül, M. Demirci, F. Luca, Á. Pintér, G. Soydan: On the diophantine equation x² + 2^a · 11^b = yⁿ. Fibonacci Q. 48 (2010), 39–46.
- [6] R. D. Carmichael: On the numerical factors of the arithmetic forms αⁿ ± βⁿ. Ann. of Math. (2) 15 (1913/14), 30–48.
- [7] J. H. E. Cohn: The diophantine equations $x^3 = Ny^2 \pm 1$. Q. J. Math., Oxf. II. Ser. 42 (1991), 27–30.
- [8] J. H. E. Cohn: The diophantine equation $x^2 + 2^k = y^n$. Arch. Math. 59 (1992), 341-344.
- [9] *M. Le*: Some exponential diophantine equations I: The equation $D_1 x^2 D_2 y^2 = \lambda k^z$. J. Number Theory 55 (1995), 209–221.
- [10] *M. Le*: On Cohn's conjecture concerning the diophantine equation $x^2 + 2^m = y^n$. Arch. Math. 78 (2002), 26–35.
- [11] W. Ljunggren: Éinige Sätze über Unbestimmte Gleichungen von der Form $Ax^4 + Bx^2 + C = Dy^2$. Skr. Norske Vid.-Akad., Oslo. I. Math.-Naturvid. Kl. No. 9. Oslo: Jacob Dybwad, 1943. (In German.)
- [12] F. Luca: On the equation $x^2 + 2^a \cdot 3^b = y^n$. Int. J. Math. Math. Sci. 29 (2002), 239–244.
- [13] F. Luca, A. Togbé: On the diophantine equation $x^2 + 2^a \cdot 5^b = y^n$. Int. J. Number Theory 4 (2008), 973–979.
- [14] F. Luca, A. Togbé: On the diophantine equation $x^2 + 2^{\alpha} 13^{\beta} = y^n$. Colloq. Math. 116 (2009), 139–146.
- [15] P. Mihăilescu: Primary cyclotomic units and a proof of Catalan's conjecture. J. Reine Angew. Math. 572 (2004), 167–195.
- [16] S. Rabinowicz: The solution of $y^2 \pm 2^n = x^3$. Proc. Amer. Math. Soc. 62 (1976), 1–6.
- [17] S. Siksek: On the diophantine equation $x^2 = y^p + 2^k z^p$. J. Théor. Nombres Bordx. 15 (2003), 839–846.
- [18] P. M. Voutier: Primitive divisors of Lucas and Lehmer sequences. Math. Comput. 64 (1995), 869–888.

Authors' addresses: Gou Su, School of Science, Xi'an University of Posts and Telecommunications, Xi'an, Shaanxi, P. R. China; Wang Tingting, Department of Mathematics, Northwest University, Xi'an, Shaanxi, P. R. China.